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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
01 1423 5.8 3.1 12 48 97.4
02 1403 8.8 4.5 16 55.2 96
03 1382 8.7 5.1 20 43.3 94.6
04 1454 5.2 3.1 12 43.3 99.5

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe 
Reader in order to fully 
access the exemplar 
material.
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 1 [12] 


The candidate will be required to provide 6 responses. 2 marks for each response will be 
awarded as follows:  


Conveying meaning: 


2 Meaning fully conveyed with a good degree of accuracy. Minor errors (such 
as incorrect gender, agreement, etc.) may be present.  


1 Meaning partially conveyed with a fair degree of accuracy. Errors (such as 
incorrect tense, use of a verb, etc.) may be present.  


0 Inappropriate response. 


2 marks *1 mark


e.g. Je travaille dans un magasin/je fais un stage au bureau e.g. magasin/coiffeur


e.g. Je suis organisé(e)/J’utilise un/mon/l’ordinateur/J’aime
travailler en groupe


e.g. l’informatique


e.g. Je parle allemand/Je fais espagnol e.g. espagnol


e.g. Je suis calme/J’écoute bien e.g. travailleur


e.g. Je préfère le sport/J’aime les films/J’adore les animaux e.g. le sport


e.g. C’est super/intéressant e.g. super


* To be discussed at examiners' conference


Guidance for examiners 


Candidates are instructed in the question paper to write in complete sentences and must 
provide a response with a verb in order to gain maximum marks. The complete response will 
be taken into consideration when awarding marks. The task will enable candidates to 
demonstrate their ability to use simple sentences to convey meaning and exchange 
information.  
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Answer all questions.


1. Vous voulez travailler dans un centre de vacances en France. Complétez la fiche en français.


Vous devez écrire une phrase complète dans chaque case.	 [12]


Expérience de travail


Compétences


Langues parlées


Qualités 
personnelles


Vos intérêts


Travailler en France – 
opinion
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Question 2  [16] 
 
Marks will be awarded for Communication and content and Linguistic knowledge and accuracy.  
 


Band Marks Communication and content  


5 9-10 
• Response is mainly clear and coherent in many sections but is 


occasionally ambiguous. Some facts, ideas and opinions (as 
appropriate to the task) presented are fairly detailed but occasionally are 
not relevant.  


4 7-8 
• Response is fairly clear and coherent in some sections but is often 


ambiguous. Some facts, ideas and opinions (as appropriate to the task) 
presented contain some detail but are fairly often not relevant.  


3 5-6 
• Response in a few parts has some clarity and coherence but is 


frequently ambiguous. A few facts, ideas and opinions (as appropriate to 
the task) contain a little detail but are frequently not relevant.  


2 3-4 
• Response in most parts has little clarity and coherence and is mainly 


ambiguous. Very few facts, ideas and opinions (as appropriate to the 
task) are presented and are mostly not relevant.  


1 1-2 
• Response in most parts is mainly obscure, incoherent and ambiguous. 


Isolated facts and opinions (as appropriate to the task) are presented 
but are mostly not relevant.  


0 0 • Response not worthy of credit.  
 


Band Marks Linguistic knowledge and accuracy  


3 5-6 
• A simple range of vocabulary and grammatical structures is used.  
• A good level of accuracy when using simple structures, though errors 


are often present when attempting more complex structures.  


2 3-4 
• Basic vocabulary and grammatical structures used.  
• Some accuracy demonstrated when using simple structures, very 


occasional attempts at complex structures.  


1 1-2 • Uses a very limited range of vocabulary and grammatical structures.  
• Occasional accuracy demonstrated.  


0 0 • Response not worthy of credit.  
 
Where a candidate produces a response which is wholly irrelevant to the task set, 0 marks for 
both Communication and content and Linguistic knowledge and accuracy will be awarded.  
 
Guidance for examiners  
 
Candidates are required to address the three compulsory bullet points and write approximately 
60 words overall. The task will enable candidates to demonstrate their ability to use simple 
sentences to convey meaning and exchange information, to make accurate use of a variety of 
vocabulary and grammatical structures, including some more complex forms.  
 
A simple range of vocabulary will include common and familiar words. A simple range of 
grammatical structures will include simple word order and short, simple sentences using 
common structures. Complex structures will include varied and more complex word order and 
extended sentences with a range of structures such as conjunctions, pronouns and adverbs.  
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2. Tu écris un blog au sujet de la technologie. [16]


Donne des informations et des opinions sur :


• ton portable
• les sites Internet
• les jeux vidéo.


	 Réponds en français. Écris environ 60 mots.
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Question 3 [20] 
 
Marks will be awarded for Communication and content and Linguistic knowledge and 
accuracy.  
 
See Assessment Grid for Question 3 Foundation Tier 
 
Guidance for examiners  
 
Candidates are required to address the three compulsory bullet points and write 
approximately 90-120 words overall. The candidate must provide some evidence of 
coverage of all bullet points in order to access the full mark range. The task will enable 
candidates to demonstrate their ability to produce clear and coherent text of extended length 
to present facts and express ideas and opinions; to make independent, creative and more 
complex use of language, as appropriate, to note down key points, express and justify 
individual thoughts and points of view, in order to interest, inform or convince. They will also 
be able to demonstrate their ability to make accurate use of a variety of vocabulary and 
grammatical structures, including some more complex forms, to describe and narrate with 
reference to past, present and future events. They will be required to manipulate the 
language, using and adapting a variety of structures and vocabulary, including appropriate 
style and register.  
 
(a) A good variety of vocabulary will include common and familiar and less common and 


less familiar words. A good variety of grammatical structures will include simple word 
order and short, simple sentences using common structures. Complex structures will 
include varied and more complex word order and extended sentences with a range of 
structures such as conjunctions, pronouns and adverbs.  


 
(b) When assessing style and register, the following will be taken into account:  


• the appropriateness of the piece for the intended audience (e.g. a friend, peers, 
tourists, teachers) and the appropriate register (formal or informal), including 
verbs and possessive adjectives, used consistently throughout, as appropriate to 
the level.  
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Assessment Grid for Component 4: Writing Question 3 Foundation Tier [20] 
  


Band Marks  Communication and content  Marks  Linguistic knowledge and accuracy  


5 9-10 


• A very good response. Relevant information presented 
to meet all requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) 
are clear. 9-10 


• A good variety of vocabulary and grammatical structures used, 
including attempts at complex structures.  


• A very good level of accuracy with mainly minor errors. 
References to past, present and future events are mainly 
successful. 


• Style and register are appropriate with minor lapses. 


4 7-8 


• A good response. Relevant information presented to 
meet almost all requirements of the task with minor 
omissions.  


• Facts, ideas and opinions (as appropriate to the task) 
are mostly clear.  


7-8 


• A reasonable variety of vocabulary and grammatical structures 
used, including some attempts at complex structures.  


• A good level of accuracy with occasional major errors and more 
frequent minor errors. References to past, present and future 
events are attempted but may not always be successful.  


• Style and register are mostly appropriate. 


3 5-6 


• A reasonable response. Relevant information 
presented to meet most of the requirements of the 
task.  


• Facts, ideas and opinions (as appropriate to the task) 
are generally clear but lapses are likely.  


5-6 


• Some variety of vocabulary and grammatical structures used 
including occasional attempts at complex structures.  


• A generally good level of accuracy with more frequent major 
errors and frequent minor errors. References to past, present 
and future are attempted with limited success.  


• Style and register may not always be appropriate. 


2 3-4 


• A basic response. Relevant information presented to 
meet some of the requirements of the task.  


• Some facts, ideas and opinions (as appropriate to the 
task) are sometimes clear but the message breaks 
down occasionally.  


3-4 


• A simple range of vocabulary and grammatical structures used. 
• Some accuracy when using simple structures, though errors are 


often present.  
• Limited awareness of style and register.  


1 1-2 


• A limited response. Relevant information presented to 
meet some aspect of the requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) 
are often not clear and the message may break down 
frequently.  


1-2 


• Little variety of vocabulary and very simple grammatical 
structures used.  


• Little accuracy demonstrated.  
• Little or no awareness of style and register.  


0 0 • Response not worthy of credit.  0 • Response not worthy of credit.  
Where a candidate produces a response which is wholly irrelevant to the task set, 0 marks for Communication and content and Linguistic knowledge and accuracy will be 
awarded.  
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3. Choisissez une question. Choisissez (a), (b) ou (c). [20]


(a) Écrivez une page pour un site web au sujet d’une visite à un hôtel à Boulogne, en
France l’année dernière.


Vous pouvez ajouter plus d’information mais vous devez inclure :


• ce qu’il y avait dans l’hôtel
• vos opinions de l’hôtel
• ce que vous voudriez faire comme activités à l’hôtel.


Ou


(b) Écrivez un blog sur une visite récente à un cinéma.


Vous pouvez ajouter plus d’information mais vous devez inclure :


• qui est allé avec vous
• vos opinions du film
• un autre film que vous voudriez voir.


	 Ou


(c) Pendant les vacances vous avez travaillé dans un café. Écrivez un blog sur ce travail.


Vous pouvez ajouter plus d’information mais vous devez inclure :


• vos opinions de ce travail
• ce que vous avez fait au travail
• ce que vous aimeriez faire avec l’argent gagné.


Écrivez environ 90–120 mots en français.


© WJEC CBAC Ltd.
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Question 4 – Translation  [12] 
 
The task will enable candidates to demonstrate their ability to convey key messages 
accurately and to apply grammatical knowledge of language and structures in context. Marks 
for translation will be awarded for conveying meaning and for application of grammatical 
knowledge and structures.  
 
For each question (4a, 4b and 4c), marks of 0-1-2 will be awarded as follows:  
 


2 Meaning fully conveyed. Grammatical structures correct with very minor 
errors (such as incorrect accents, genders, agreements, etc.).  


1 Meaning partially conveyed but grammatical structures used are correct; or 
meaning conveyed but grammatical structures incorrect.  


0 Inappropriate response. None of the required information is conveyed.  
 
The maximum mark for conveying meaning and for application of grammatical knowledge 
and structures for this section is 6, as there are three sections to be translated.  
 
For each question (4d and 4e), marks of 0-1-2-3 will be awarded as follows:  
 


3 Meaning fully conveyed. Grammatical structures correct with very minor 
errors (such as incorrect accents, genders, agreements, etc.).  


2 Meaning partially conveyed but grammatical structures used are correct; or 
meaning conveyed but grammatical structures incorrect.  


1 Little meaning conveyed. Isolated words are communicated.  


0 Inappropriate response. None of the required information is conveyed.  
 
The maximum mark for conveying meaning and for application of grammatical knowledge 
and structures in this section is 6, as there are two sections to be translated.  
 
The total number of marks available for the translation task as a whole is 12.  
 
To aid examiners in awarding marks for conveying meaning and for application of 
grammatical knowledge and structures, possible alternative answers will be discussed and 
agreed at conference. Where candidates have adopted a different approach, examiners are 
advised to discuss this with their Principal Examiner or Team Leader.  
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English  French 2 marks  *1 mark  


(a) My favourite 
subject is 
French. 


Ma matière 
préférée/favorite 
est le français. 


matière préférée/favorite français 


(b) It is very 
interesting and 
useful. 


C’est/elle est très 
intéressant(e) et 
utile. 


C’est/il est très  
either 
intéressant  
or 
et utile 


(c) I don’t like doing 
homework. 


Je n’aime pas faire 
les devoirs. 


Je n’aime les devoirs 


  
English  French 3 marks  *2 marks  *1 mark  


(d) Yesterday 
evening, I 
worked a lot for 
my exams. 


Hier soir, j’ai 
beaucoup travaillé/ 
travaillé beaucoup 
pour mes examens. 


J’ai beaucoup 
travaillé, les examens 


travaillé 
beaucoup 


(e) Next year, I 
would like to go 
to college. 


L’année prochaine 
je veux/voudrais 
aller au lycée/au 
collège/à 
l’université/la fac. 


Je veux/voudrais aller 
au lycée/au collège 


Either je 
veux/voudrais or 
aller au lycée/au 
collège 


 
*To be discussed at examiners’ conference  
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4. Translation


Read the sentences below about school / college. Translate the sentences into French.	 [12]


(a) My favourite subject is French. [2]


(b) It is very interesting and useful. [2]


(c) I don’t like doing homework. [2]


(d) Yesterday evening, I worked a lot for my exams. [3]


(e) Next year, I would like to go to college. [3]


(a) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(b) 		. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(c) 		. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(d) 		. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(e) 		. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


END OF PAPER







































meaning partially conveyed


inappropriate response


TOTAL - 2


0


1


1 mark - meaning partially conveyed



Sticky Note

Questions clearly not understood. Limited comprehension.












2 marks - fully conveyed


0 - inappropriate


2 marks - fully conveyed


2 marks - fully conveyed


2 marks


2 marks - minor error


Total - 10 marks



Sticky Note

'Qui,' was not understood.



Sticky Note

Rubric infringement. Question understood - answer given in the wrong language.



Sticky Note

Total: 3 marks.












2 marks - fully conveyed


0 marks - inappropriate response


2 marks - fully conveyed


2 marks - fully conveyed


2 marks - fully conveyed


Total = 10 marks


2 marks



Sticky Note

Very good, accurate answers.
Total: 6 marks.








































C = Band 4 - 7 marks - response fairly clear and coherent


L = Band 2 - 4 marks - basic vocabulary and grammatical strutures
          some accuracy with simple structures


TOTAL = 11



Sticky Note

Questions are becoming less accessible for this candidate who has left gaps instead of attempting to answer. This was not usually the case as most candidates attempted an answer at least.



Sticky Note

Total: 1 mark.












C = Band 3 - 6 marks - some clarity but frequently ambiguous - no mention
of 'jeux vidéo'


L = Band 2 - 3 marks - basic vocab and structures, some accuracy


Total = 9 marks



Sticky Note

Basile doesn't like holidays and later on in the text expresses the wish to stay home and not go on holidays.
This answer was considered acceptable as it conveys his dislike of holidays.



Sticky Note

Good, accurate answers.



Sticky Note

The candidate appears to find this question inaccessible and leaves a blank space. Candidates should be encouraged to at least attempt an answer.



Sticky Note

Total: 5 marks.












C - Band 5 - 10 marks - clear and coherent - some facts, opinions presented 


L - Band 3 - 5 marks- simple vocabulary and grammar - good level of accuracy 


Total =  15 marks 



Sticky Note

The candidate has focused on the first word,'Incroyable,' and takes this to refer to the holidays.



Sticky Note

After careful consideration it was decided to award a mark for this answer. 'Go bizarre,' is a strange expression, however the candidate conveys the idea that Basile dislikes holidays because of his parents who are odd.



Sticky Note

Accepted for one mark although the candidate fails to use the plural form 'walks.'



Sticky Note

Rubric infringement. Incorrect language used to answer.



Sticky Note

Total: 3 marks.








































C = Band 2 - 4 marks - basic response,some requirements of the task, some facts 
and opinions are sometimes clear


L = Band 2 - 3 marks - basic vocabulary and grammar, some accuracy


Total = 7 



Sticky Note

'Go to theatre,' suggests going inside a building which is not what the festival is about.



Sticky Note

This answer may have been inspired by the accompanying image of a building which looks like a castle.



Sticky Note

The candidate has read ,'cent cinquante artistes,' and not fully understood the text.



Sticky Note

Total: 1 mark.













C = Band 3 - 6 marks - reasonable response - facts and opinions generally clear


L = Band 3 - 5 marks - some variety of vocab - good level of accuracy - limited success 
with tenses


Total = 11 marks



Sticky Note

This single word answer was considered acceptable given the wording of the question. 



Sticky Note

Total: 1 mark.












C = Band 5 - 10 marks - very good response - all requirements met - facts, opinions
 and ideas 
L = Band 5 - 9 marks - good vocabulary and grammatical structures - good level of accuracy


Total = 19 marks



Sticky Note

One of the few candidates to give a correct answer for this part of the question. 



Sticky Note

'Juillet' not recognised.



Sticky Note

Many candidates failed to give a correct answer to this question. 



Sticky Note

Total: 3 marks.








































1 mark - partially conveyed


2 marks - fully conveyed


1 mark - partially conveyed


1 mark - little meaning conveyed - isolated words communicated


2 marks - partially conveyed


Total = 7 marks












1 mark - partially conveyed


1 mark - partially conveyed


0 marks - inappropriate response


2 marks - partially conveyed


Total = 5 marks


0 marks - need attempt at 'devoirs' for 1 mark












2 marks - fully conveyed


2 marks - fully conveyed


1 mark - partially conveyed


1mark - little meaning conveyed


3 marks - fully conveyed


Total = 9 marks











